BIG BIKE PARTS'

INSTALLATION INSTRUCTIONS

e e een || PART NO. 13-250A | HANDLEBAR SADDLE CLAMP UPDATE

permission of Big Bike Parts, Inc.

11/7/2012

INSTALLING SPEAKERS USING UNIVERSAL HANDLEBAR SADDLE CLAMPS

PLEASE READ THROUGH AND UNDERSTAND THESE INSTRUCTIONS BEFORE BEGINNING.

1. MEASURE THE HANDLEBARS DIAMETER.

2. IF YOU HAVE 1” DIAMETER HANDLEBAR YOU WILL ONLY NEED TO USE THE 82MM (3-1/4”) LONG RUBBER SPACER. IF YOU HAVE 7/8” HANDLEBARS YOU
WILL NEED TO USE BOTH THE 82MM (3-1/4”) LONG AND THE 50MM (2”) LONG SPACERS.

3. SLIDE THE HANDLEBAR SADDLE CLAMP OVER HANDLEBAR WITH THE LOWER RECESS FOR THE M4 HEX NUT FACING THE FRONT OF THE BIKE. (SEE FIG. 1)
4. WRAP THE RUBBER SPACERS AROUND THE HANDLEBAR AND SLIDE THE SADDLE CLAMP OVER THEM.

5. INSERT THE M4 X 25MM SCREW AS SHOWN IF FIG. 2 THROUGH FIRST FLANGE OF CLAMP.

6. HOLD CLAMP SPACER IN PLACE AND SLIDE THE SCREW THROUGH THE SPACER AND THE FLANGE ON OTHER SIDE OF THE SADDLE CLAMP.

7. INSERT THE M4 HEX NUT AND TIGHTEN. THE CLAMP SPACER WILL WORK AS A STOP SO THAT THE SADDLE CLAMP CAN NOT BE OVER TIGHTENED.

8. APPLY 2 PIECES OF DOUBLE-SIDED TAPE TO TOP OF THE SADDLE CLAMP. (SEE FIG. 2)

9. INSERT SPEAKER AND PRESS TIGHT.

10. INSTALL THE M4 X 12MM SCREW FROM RIGHT SIDE AND THE M4 HEX NUT FROM THE LEFT SIDE AND TIGHTEN.
11. REPEAT THE STEP FOR THE OTHER SADDLE CLAMP AND SPEAKER.

UPPER RECESS
FOR M4 HEX NUT

SPEAKER

DOUBLE-SIDED TAPE

f M4 X 12MM SCREW
— M4 HEX NUT
82MM (3-1/4") X

DOUBLE-SIDED TAPE

M4 HEX NUT —-

HANDLEBAR SADDLE CLAMP ABMAERUESERSEATER

M4 X 25MM SCREW -

A — CLAMP SPACER Lsnmu (2") X 15MM
RUBBER SPACER

LOWER RECESS

FIG. 1 FOR M4 HEX NUT HANDLEBARS

FIG. 2




